& Montazni ndvod
Stinéni k pergole Terrassendach Original

G

o \or der Montage bitte Montageanleitung genauestens
durchlesen und Produkt auf evtl. Transportschaden bzw.
Fehler tiberpriifen, da fiir Schaden an bereits montierten
Produkten keine Haftung tibernommen werden kann.

e Priifen Sie vor dem Einbau, ob Typ, MaB und Farbe
libereinstimmen.

e MaBanfertigungen sind vom Umtausch ausgeschlos-
sen.

e Empfehlung: Die Montage sollte von zwei Personen
durchgefiihrt werden.

e Die Elektroinstallation muss vom Elektro-Fachmann
ausgefiihrt oder abgenommen werden.

o Auf VerschleiBteile besteht nach Ablauf der gesetzli-
chen Garantiezeit kein Garantieanspruch.

o Anderung der Konstruktion vorbehalten.

Wichtige Hinweise!

Important
Reccommendations!

 Prior to assembly please study the assembly instruc-
tions in detail and check the consignment for possible
faulty parts or damage during transportation. No liability
will be assumed for damage to products already assem-
bled.

e Please check that type, dimensions and colour corre-
spond before assembly

e Custom-made parts cannot be exchanged.

e Recommendation: Assembly should be carried out by
two persons.

 The electrical installation must be carried out or remo-
ved by a qualified electrician.

* No guarantee claims can be accepted for parts subject
to wear and tear after the statutory guarantee period
has expired.

 The design is subject to alterations.

Dlezita @
upozornéni !

o Pfed montazZi si prostudujte montazni pokyny a
zkontrolujte, zda zasilka neni vadna nebo poSkozena
béhem prepravy. Za poSkozeni jiz smontovanych
produktli nepfebirame Zadnou zodpovédnost.

ePfed montazi zkontrolujte, zda odpovida typ, rozméry
a barva produktu.

© ZboZi na zakézku nelze vyménit.
e DoporuCujeme: Montaz by méli provadét dvé osoby

o Elektricka instalace musi byt zajisténa kvalifikovanym
elektrikarem.

o U dild podiehajicich opotiebeni po uplynuti zakonné
zarucni doby nelze pfijmout Zadné naroky na zaruku.

¢ Design mize podléhat zménam.

qulia



<l I
/ .
@ 6,0 mm H-

Stuckliste | Parts list | Obsah baleni

=

Bezeichnung Stiick
Description Pieces
Popis ks
Stoffbahn aus Acrylstoff
1. Fabric made of acrylic fabric 1x
Akrylové latka
) Spannschlosshaken \ 2
: Turnbuckle hooks / Napinaci hacky X
Drahtseilklemme
Wire rope clamp / Spona pro ocelové lanko * 8 x
Flugelmutter M6
Wing nut M6 / Matka M6 “ 4x
5 Gewindestange M6x80 \ 4
: Threaded rod M6x80 / Zéavitova ty¢ M6x80 X
Ringose M6 g 4
Ring eye M6 / Kruhova ocka M6 X
7 Drahtseil D)
: Wire rope / Ocelové lanko X

1. Montage Halterungen | Mounting bracket | Montaz drzaku




2. Montage Stoffbahn und Drahtseil | Montage of fabric sheet and wire rope |
Montaz latkového zastinéni a ocelového lana
\ 2x

8x

@ }
Hang the wire rope in the turnbuckle hook, connect it with 2
wire rope clamps and hang this in the ring eye.

Zavéste lanko do napinaciho hac¢ku, spojte 2 sponkami a zavéste ho
do kruhového ocka.

Spread out the fabric and thread the wire rope through the
eyelets on one side alternately at the top and bottom. Start
with the 2nd eyelet first. Hang the 1st eyelet with the turn-
buckle on the ring eye.

Roztahnéte latku a provléknéte ocelové lanko pires ocka na
jedné strané stéidavé nahote a dole.

Zacnéte prvnim ockem. Zavéste prvni o¢ko s napindkem na
kruhové ocko.

Tighten the wire rope in the lower eyelet and fasten it with 2
wire rope clamps on each side.

Utdhnéte ocelové lanko ve spodnim kruhovém ocku a utahnéte jej
pomoci 2 ocelovych sponek.

Finally, tension the wire rope using the turnbuckle hooks.

Nakonec napnéte lano pomoci hakd napindku.

Please repeat the above steps for the other side.

Opakujte vyse uvedené kroky pro druhou stranu.



Produktiibersicht / Product range / Gamme de produits

A A
b ¥ 5

= k&‘i -
@d Vordéacher

Terrassendéacher

Hohlkammerplatten Profilplatten

i

Ul

llﬂmmwm

Noppenbahn

Bitumenwellplatten

T
Gartenprodukte

Effektplatten R Rasengitter

Hobbyplatten

gqulia

D - 12/20 - Beschattung mit Seilfiihrung


http://www.tcpdf.org

